
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

 Complete Spare Parts List of 

Martin DJ Ministar 

  

243025-000000 TLC 226 T  , 3A Triac 

243025-000BIC Triac TLC 226 T 400V/3A, Cut. 

265017-000000 100uF 25V Electrolytic capacitor, radial 

272015-000000 10K Ohm 3 Watt Resistor 

305001-000000 Strap, black, 2.5x100mm 

318010-000000 Mains socket, chassis U.S.   110V 

319003-000000 2 Pole terminal block 5mm spacing 

336020-000000 Transformer 2x115V 23V 250VA 

337003-000000 Fan 115V  4" , ball bearing 

337006-000000 GUARD FOR FAN  4" 

339107-000000 Motor 120VAC   50Hz/30RPM , 60Hz/36RPM 

344001-000000 Electret condensor Microphone 

346001-000000 Socket halogen lamp G6,35 

350005-000000 Fuse 4 AT 

350011-000000 FUSE 2 A SLOW BLOW 

351005-000000 Fuse holder chassis  6.3mm plugs , nut 

360027-000000 M4x5 pinol allen key 

360106-000000 Adjusment screw M6 

360112-000000 Handwheel Black 

363002-000000 3.2mm x 6  Rivet Black 

363005-000000 M3 Star washer black 

363009-000000 M3 Washer shiny 

363016-000000 M3 Nut black 

373001-000000 Cabel clamp f. 1.6mm plate 

374003-000000 Spring D=6 l=70 d=0.6 

375018-000000 Lens D=88.8 F=210 MD=12 

376024-000000 Parabol Ministar/Starflash Dichroic 

392301-000000 *Dicro Yellow 703 rx      14x15.R 

392302-000000 *Dicro Orange 702 rx      14x15.R 

392303-000000 *Dicro Blue 706 rx        14x15.R 

392304-000000 *Dicro Red 701 rx        14x15.R 

392305-000000 *Dicro Magenta 704 rx     14x15.R 

392307-000000 *Dicro Green 705 rx       14x15.R 

810015-000000 *PCB AUTMIC asmb without mic, 100-260V AC 

 

 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 


